M2 ;1NN N SN NYTH

2018,0”ywn 9NN NI TYIN 79°NN TIWVN
416,016117,016584 :NORWN 190N
Thinking Skills :NOD)

(3 PYRI PI95) NWN SN

UIN
" )IONY
(MODULE F)

MI90
N5 MINMIN

MPT YVNM DYIAINRY IYY 01NIAN YN N

DP9 NYDY NT PYNWA :D3IYNN NN NONWD 1IN A

MTP 35 — PYXIPId
mmpy 45 — NY PI9
MNP 20 — v pId
MM 100 — "D
TPOIRD DIRNN DY MPaN INNIY 1DPWIN 12 NPNZMNN INRIN DNDMNN THN :YI0OWA IMN Y TN 2

PPN TIWNI MPNIAN PR SY INKRD)

IONR-MRTNOY /IR NOY-DNIN NIWHNT PO D) wHNWND IRYI "wTn nDy” 1013

JPDANIND DIRDN DY MPO NYIR PYD INN N2 WIIwin

TNV MRNN T
(725 D 7YPHRN MMIPHNI) NYRYD P PMIVD 22 IR DN Py (1)

.7292 LY PLAIXRI PMDYN DI IR DN (2)

IWND PORVN DX NN 1PN DN (3)

PN TITIPI NN MW 213 DY (0N

STAND D2IN23DY MINIY M1NDMI 957 PYWH MINDIN NT POHNW M1NINN

1nbsna
/972 92yn qunn/



NoDI +416,016117,016584’01 ,0”YWN 9NN, INIOD ,TPDIIN

PART 1 (35 points)

Answer the questions for (A) The Enemy.

A. THE ENEMY / Pearl S. Buck

Answer questions 1-4.

1.

Sadao's father approves of Hana because she is (-).
(i) an American

(i1) adoctor

(iii) a modern woman

(iv) Japanese

(5 points)
When the servants hear about the wounded American, they (-).
(i) are frightened
(ii) put him to bed
(iii) give him food
(iv) are curious
(5 points)

How does the relationship between Sadao and Tom develop during the story? Give information
from the story to support your answer.

ANSWER: oo e e e e e e e e e e e eaaaa

(10 points)
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4. For this question, choose ONE of the thinking skills from the Appendix (noo)) on page 13
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\’/: OR any thinking skill studied in class. Use this thinking skill when answering the question.
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(10 points for the content of the answer, 5 points for the correct use of the thinking skill)
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How does the fact that both Sadao and Hana studied in the United States affect their decisions
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concerning the wounded American? Give information from the story to support your answer.
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(15 points)
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PART II (45 points)

Answer the questions for either (B) All My Sons OR (C) The Wave.

B. ALL MY SONS / Arthur Miller

Answer questions 5-9.

S.

During his visit to the Kellers, George (-).

(1)

(i)
(iii)
(iv)

tells Ann their father's side of the story
asks Joe to help find him a job
encourages Ann to marry Chris

wants Kate to get on with her life

COMPLETE THE SENTENCE.

Larry committed suicide because

(5 points)

(5 points)

At the end of Act II, when the truth about Keller is revealed, Kate says, "Chris, I've never said

no to you in my life, now I say no!" Explain why Kate says this. Give information from the

play to support your answer.

ANSWER: L.t

(10 points)
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8. Explain the importance of Jim in the play. Give information from the play to support your
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For this question, choose ONE of the thinking skills from the Appendix (novy) on page 13
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OR any thinking skill studied in class. Use this thinking skill when answering the question.
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(10 points for the content of the answer, 5 points for the correct use of the thinking skill)
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How do Chris and Larry react differently to their father's guilt? Give information from the play
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(15 points)
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OR:

C. THE WAVE / Morton Rhue

Answer questions 10-14.

10.

11.

12.

Ben Ross decides to start The Wave experiment because he wants to (-).
(i) show that everyone is equal

(i) help Robert find friends

(iii) become the leader of a movement

(iv) teach his class about the Nazi party
(5 points)

What did Laurie write about in the special edition of The Grapevine?

ANSWER: L.t e e st e e e e

(5 points)

After first seeing the movie in class, Laurie tells David how much it disturbed her and he replies,
"Well, you can't go around being bummed out about it for the rest of your life either."
Explain how reactions like these convinced Ben Ross to start the experiment. Give information

from the novel to support your answer.

ANSWER. Lo e e e

(10 points)
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13. When Laurie first tells her parents about The Wave, she says, " You couldn't help but get caught
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14. For this question, choose ONE of the thinking skills from the Appendix (nov3) on page 13

OR any thinking skill studied in class. Use this thinking skill when answering the question.

(10 points for the content of the answer, 5 points for the correct use of the thinking skill)

The first time Robert sees the movie, he goes to sleep. At the end of the novel, when he sees the

movie for the second time, he cries. Explain why there is a difference in his reactions.

Give information from the novel to support your answer.

Thinking SKill T CRHOSE: ...ceouiiiiiiiiie ettt ettt et et e e sateesabeesabeesabeeens

ANSWER: oo

(15 points)
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Use this page and the next (pages 10-11) for writing a rough draft.
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